Subject: Re: child immunization
Posted by Anonymous on Fri, 12 Apr 2024 11:19:14 GMT

View Forum Message <> Reply to Message

| don't know what your "ms" variable is (it must be related to h9) but the logic would be the same.
The dropout variable should be a binary variable that is conditional on having received DPT1, and
it is NA (a dot in Stata) if the child did not receive DPT1. That is, it is NA if the did not receive
DPT1, O if it received DPT1 but not DPT3, and 1 if it received DPT1 AND DPT3. That's what the
two Stata lines would construct.

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=
https://userforum.dhsprogram.com/index.php?t=rview&th=11681&goto=29028#msg_29028
https://userforum.dhsprogram.com/index.php?t=post&reply_to=29028
https://userforum.dhsprogram.com/index.php

